Calgary Vietnamese Association for Encouragement of Learning Ban Khuyến Học



#106, 1817 – 48th Street S.E. Calgary, Alberta T2B 1L9 (403) 680-7421

APPLICATION FOR SCHOLARSHIP - ĐƠN XIN HỌC BỔNG

y MM / Tháng	
,j 1,11,1, 1,1100118	g YY / Năm
ười Giám Hộ thứ	nhất:
Người Giám Hộ t	hứ nhì:
Năm: 2022-2023	
mail Address: _	
	rship. 'iệt Nam ưu tú tại Calgary.
-	ıst be certified by the school ng cấp phát
Calgary,	
DD / Ngày MM	I / Tháng YY / Năm
	Người Giám Hộ the Năm: 2022-2023 Email Address:ese Honor Scholar nh cho học sinh Ver cor my school year oc 2022-2023 của the dor transcript mu hận bởi nhà trười _Calgary,

All applications will be contacted by mail after April 2, 2023. Tất cả đơn sẽ được trả lời sau ngày 2 tháng 4 năm 2023. These scholarships are for Vietnamese students in Calgary who had excellent achievements in the school years 2022-2023.

To be eligible for a scholarship, the following conditions must be met:

*For grades 7, 8, 9 students:

- 1. The overall average is at least 80%, and
- 2. The marks of at least three (3) of the four (4) main **subjects** (English, Mathematics, Sciences and Social Sciences / Humanities) are at least 75%.

*For grades 10, 11, 12 students:

- 1. The overall credit-weighted average is at least 80%,
- 2. The marks of at least three (3) of the four (4) main subject (English, Mathematics, Sciences and Social Sciences / Humanities) are at least 75%, and
- 3. The total number of **credits** for the school year is at least 35 credits.

Following is an example of how credit-weighted average is calculated:

Subject	Mark A	Credit B	A x B
English	75	5	375
Mathematics	78	5	390
Biology	65	5	325
Mechanics	80	3	240
Foods	85	2	170
Comm Tech.	90	3	270
Drama	95	2	170
Total		25	1940

The credit-weighted average is 1940 / 25 = 77.6%

IMPORTANT NOTE:

For students that receive letter grades (A/B/C/D/EX etc.), please obtain a letter from your school confirming your <u>final average grade percentage</u> for the school year. Ban Khuyến Học reserves the right to disqualify any applicant that does not submit a grade percentage and/or that we reasonably believe does not meet the scholarship's requirements for academic achievement.

You can drop off your applications at the following locations:

- Calgary Vietnamese Association for Encouragement of Learning Ban Khuyến Học
- Calgary Vietnamese Association Hội Người Việt
- Calgary Vietnamese School Trường Việt Ngữ
- Bac Si Kim and Do's Family Physicians' Clinic

Calgary Vietnamese Association for Encouragement of Learning Ban Khuyến Học



#106, 1817 – 48th Street S.E. Calgary, Alberta T2B 1L9 (403) 680-7421

Scholarship Grades 7, 8, 9 - Lóp 7, 8, 9 Xin Học Bổng

Grade:	Year / Nam: 2022-2023	Year / Nam: 2022-2023		
Subject	Mark (% only)			
Overall average:				
Average of three (3) out of fou (English, Mathematics, Science	ees and Social Sciences / Humanities)			

IMPORTANT NOTE:

Please ensure a copy of your report card/transcripts are included in the application to verify grades.

For students that receive letter grades (A/B/C/D/EX etc.), please obtain a letter from your school confirming your <u>final average grade percentage</u> for the school year and include it in your application.

Calgary Vietnamese Association for Encouragement of Learning Ban Khuyến Học



#106, 1817 – 48th Street S.E. Calgary, Alberta T2B 1L9 (403) 680-7421

Scholarship Grades 10, 11, 12 - Lớp 10, 11, 12 Xin Học Bổng

Grade:	Year / Năm:	ar / Năm: 2023-2023		
Subject	Mark (% only)	Credit	Mark x Credit	
	Tota	ıl:		
		·		
Credit-weighted	average is:	/=		
	Mark x Credit Cı	redit		
	of four (4) main subjects: Sciences and Social Science		%	

IMPORTANT NOTE:

Please ensure a copy of your report card/transcripts are included in the application to verify grades.